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March 2021 With fewer customers willing to be crowded together in a small space for several hours at a
time, air travel has taken a real hit, and companies have had to cut way back on the cities they service. This
often makes for some rather questionable connecting routes. Even if you were a wanted criminal contemplating
making a run for it, you might stop and consider whether taking off on foot (or flagging down an Uber) would
indeed be less stressful than taking to the friendly skies.

*To fly from Los Angeles, CA, to Missoula, MT, you’d have to go through Portland, OR.

*A Nashville, TN, to Burlington, VT, requires a stopover in Pittsburgh, PA.

*Stockholm, Sweden, to Prague, Czechia, by way of Riga, Latvia.

*When flying from Washington, DC, to Boston, MA, Ottawa, ON, is your connecting airport
*Manchester, England - Zurich, Switzerland, by way of Tricity, Poland.

*Going from Tromsg, Norway, to Edinburgh, Scotland, requires a connection in Bratislava, Slovakia.

*When traveling from Capetown, South Africa, to Wellington, New Zealand, you will change planes in
Melbourne, Australia.

*If you’re going from Phoenix, AZ, to Victoria, BC, plan on a lay-over in Denver, CO.

*If flying from Navi Mumbai, India, to Christchurch, New Zealand, Taipei, Taiwan, will be where you change
planes

*Madison, WI, to Austin, TX, is only doable if you pass through Saint Louis, MO.

Bonus Bonus: All of the cities mentioned in this puzzle have
something in common — except one. What do they have in
common, and which city is the outlier?
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